INTRODUCING B: (left index finger covering the top hole)

=ta (1 beat)

The note B is always
written on the third line,

counting from the bottom
up.

=ta-aa (2 beats)




INTRODUCING A (leff index and middle finger covering the first two
holes)

The note A is always
written in the second space,

counting from the bottom
up.
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This is what a rest,
with a value of 1
beat, looks like.

INTRODUCING G (index, middle and ring fingers of left hand covering
three holes from thetop)

The note G is always
written on the 2 line,
counting from the
bottom up.

=ta-aa (2 beat
=ta (1 beat) ta:aa (2 beats) =ti-ti (% beat and % beat)




INTRODUCING C:

The note C is always
written in the third
space, counting from
the bottom up.

C

There are 2 types of C on the tin whistle:
C #(sharp)= no fingers on tin whistle — »

C § (natural) = middle and ring finger of left hand covering 2 and 3
hole from thetop —M8 M8
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Pease Pudding Hot (4 beats in each bar)
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INTRODUCING F # (sharp)index, middie and ring fingers of left hand
covering three holes from the top of the tin whistle, index finger of right
hand covering next hole down)

The note F# (sharp) is
always written in the first
space, counting from the
bottom up.

opoN N N N

Here iz a tune which includes the note F #

Little Sally Waters (2 beats in each bar)

INTRODUCING Efindex, middle and ring fingers of left hand covering
three holes from the fop of the tin whistle, index finger and middle finger q;r”

right hand covering next 2 holes dowit)

The note E is always
written on the first line,
counting from the
bottom up.
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Here are some tunes which include the note E:

Rain Rain (2 beats in each bar)

The note D is always
written directly under
the 5 line stave.




Here are some tunes that include D. You will probably recognise them:

This Old Man (4 beats in each bar)

Freére Jac ques (4 beats in each bar- can also be performed az a round)
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s in each bar- C




